aaad QgSio aland g0k wi:1

program factoralnumber;
var i f:iinteger;

begin

readln(i);

f:=1;

fori:=1toido

f:=f*i;

writeln(f);

end.

e @iV el Jutuidd Ted b gl il 2

kel S i 2 iR § guietnd el | RS i
program hussien;
var a,b,c,i:integer;

(5*5 )dighao oo (guid] Jouid| Fubukel Too b mi: 3

*
**k%*
*kkkk

*kkkk

program hussien;
var i,j:integer;

begin d:array[1..5,1..5]of integer;
fori:=1to 3 do begin
begin fori:=1to 5 do
readin(a,b); begin
c:=atb; writeln;
writeln(c); forj:=1to 5do
end; begin
end. if((j=3)or(i=4)or(i=5)) then
write("™*")
else if(i=3)and(j mod 2=0) then
write("™*")
else
write(' ");
end;
1 s/w:Hussien Ahmmed.T
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« end; end;

:% end end.

;-? - - ” . * *q &% o L4 L4 .
® eid| JSuiad| gudalg: 4 (5*5)ddighual Souiltd| wlaidlg (guinel ol ail| gudal:5
i "

":S * *

ﬁ:« * * program hussien;

« var i,j:integer;

:‘;% * *x % d:array[1..5,1..5]of integer;

i« % % begin

« fori:=1to 5 do

& i

o * % % be_gln

w _ writeln;

« program hussien; for j=1to 5 do

« var i,jiinteger; begin

o . : .

e::: g.él;ri?]y[l.j,l..5]0f1nteger, if((_j=i)or(i+j:6)) then

= fori:=1to 5 do write(™)

« begin else

& writeln; write(" );

34 forj:=1to 5 do end;

N .

“© begin end;

« if((i=j)and(i+j<7)) then end.

o write(*")

ﬁ:« else if((i+j=6)and(i<4)) then

o write(**') R R A
,;5‘: else if(i=3)and(j mod 2=0) then

« write(**)

“,:e.. else if((i=5)and(j mod 2=0)) then .

ﬁ*\* write("*") ==\ 3%&5\ S &: 3\‘3 Qz.\.\p-o N2\ *
& else if(((i=4)and(i+j=5))or((i=4)and(i+j=9))or((i35nd(i+j=8)) )then

&« write(**')

f:g else ——

~ write("’); %m %M L/

o end;

™
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program stackaddtion;

var

stack:record
i,top,m,x,g,w,r,k,j,h:integer;
stack:array[1..6] of integer;
item:array[1..10] of integer;

end;

procedure pushstak(top,i,h:integer);
begin

if stack.top=6 then
writeln(‘error...stack is full”)

else

begin

stack. m:=1;

writeln(‘enter location new item’);
readin(stack.qg);

writeln(‘enter new item");
readln(stack.r);

if stack.g>stack.top then

begin

stack.top:=stack.top+1;
stack.stack[stack.top]:=stack.r;
end

else

begin

for stack.k:=stack.top downto 1 do
begin
stack.item[stack.m]:=stack.stack[stack.K];
stack.stack[stack.k]:=0;

stack.m:=stack.m+1;

if stack.k=stack.g then

begin
stack.item[stack.m]:=stack.r;
stack.m:=stack. m+1;

end;

end;

stack.m:=stack.ns

for stack.w:=1 to (stack.top+1) do
begin
stack.stack[stack.w]:=stack.item[stack.m];
stack.item[stack.m]:=0;
stack.m:=stack.n:

end;

stack.top:=stack.top+1;

end;

end;

for stack.k:=stack.top downto 1 do

writeln(‘stack]',stack.k,]=", stack.stack[stacl k]

writeln(‘top=",stack.top);

end;

begin

writeln(‘'who many item you want to push’);
readin(stack.i);

for stack.i:=1 to stack.i do
pushstak(stack.top,stack.i,stack.h);

end.

gei ) iy g S (§ Gk osi: dlaa Yo
e G 1R Sl 1R Jib 19 edid| sl | o

(Coo byl 1R Juul
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begin
item[m]:=r;
m:=m+1;
Stack el 3ylgdl g s :7 end
program stackoperation; m:=m-1;
var for w:=1 to (top+1) do
i,top,m,x,g,w,search,r,s k,j,h:integer,; begin
stack:array[1..6] of integer; stack[w]:=item[m];
item:array[ 1..10] of integer; item[m]:=0;
check:char; m:=m-l;
procedure pushstack( var i,x,g,r,top:integer); end;
begin top:=top+1;
if top=6 then end;
writeln('error...stack is full’) end,
else for k:=top downto 1 do
begin writeln(‘stack[',k,']=', stacklk]);
m:=1; writeln(‘top=",top);
writeln('enter location new item’); end;
readin(g); procedure popstack(var g,k,h,top,s:integer);
writeln('enter new item"); begin
readin(r); if top=0 then
if g>top then writeln(‘error..stack is empty’)
begin else
top:=top+1; begin
stack[top]:=r; write(‘'who location you want to delete:’);
end readin(h);
else if h>=top then
begin begin
for k:=top downto 1 do stack[top]:=0;
begin top:=topd;
item[m]:=stack[Kk]; end
stack[k]:=0; else
m:=m+1; begin
if k=g then m:=1;
4 s/w:Hussien Ahmmed.T




for i:=top downto 1 do
begin

if i=h then
stack][i]:=0

else

begin
item[m]:=stack([i;
stack[i]:=0;
m:=m+1;

end;

end;

m:=m-1;

s:=1;

for i:=m downto 1 do
begin
stack[s]:=iteml[i];
item[i]:=0;
s:=s+1;
writeln('s=",s);
end;

top:=sd;

end;

writeln(‘the contain of stack is’);

for j:=top downto 1 do

writeln('stack[',j,"1=", stack[j]);

writeln(‘top="top);
end;
end;

procedure checkfullstack(chek:char;top:integer);

begin

if top=6 then
writeln('stack is full)
else

writeln('stack is not full’);

end;

procedure checkemptystack(chek:char;top:integer);

begin
if top=0 then

writeln('stack is empty")

else

writeln('stack is not empty');

end;

procedure clearstack(h,top:integer);

begin

if h=0 then

begin

for j:=top downto 1 do
stack[j]:=0;

writeln(‘stack=",stack[j]);

end

else

begin

for j:=top downto 1 do

writeln('stack[',j,']=", stack[j]);

writeln(‘top=",top);
end;

end;

begin

writeln('who many item you want to enter in thiact);

readin(x);

writeln(‘enter the element’);

for top:=1 to x do
begin
write('stack([',top,"]=");
readin(stack[top]);
end;

writeln(*who do you want do in this stack press";
writeln('(1)push ,(2)pop ,(3heck stack ,(4)clearstack’);

readin(search);
if search=1 then

s/w:Hussien Ahmmed.T



begin
writeIn(‘who many item you want to push’);
readin(x);
fori:=1to x do
pushstack(i,x,g,r,top);
end,
if search=2 then
begin
writeIn(‘who many item you want to pop’); 0
readin(g); €1 o4
for k:=1to g do ¥< M ﬁ%
popstack(g,k,h,top,s); 'Y o
end; «
if search=3 then L \R ‘%
begin ¥¢ ::r;a
write('do you want to check full stack(y,n): "); ¢ 'Y o
readin(check); 1 «
if check="y' then Stack &
checkfullstack(check,top); St $M ::e.
write('do you want to check empty stack(y,n): '); age Yo b
readin(check); ( ]_) ¢ &«
if check="y' then ltem o)
checkemptystack(check,top) Stack te
end; Stage ac ﬁ’i‘
if search=4 then (2) Stage <
begin «
writeln(‘press(0) to clear stack other to show final result'); (3) ;%
readin(h); ' ' ' (;.z
Cle:rstack(h,top); Add item (12) in location(3) i«
end; &
end. ®
- ]
Note:the come is digraim for work program in add Elg( 1) a d d sta Ck ﬁi‘
'3
i~
Ny
"
—-—
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" . . . item[m]:=r;
(Queue) H..“”'ﬁ $9 et : 8 m:=m+1;
program queueoperation; fend;
var item[m]:=queue[K];
I,rear,m,front,x,g,w,rk,j,h:integer; queue[k]:=0;
queue:array[ 1..6] of integer; m:=r'n+1;
item:array[1..10] of integer; end;
check:char; for w:=front to (rear+1) do
procedure addqueue( var i,x,g,r,rear,front:integer) begin _
begin queuelw]:=item[w];
if rear=6 then ltem_[m]2=0;
writeln(‘error...queue is full’) end;
else rear:=w;
begin _end;
m:=1; if front=0 then
writeln('enter location new item’); frOﬂFizl;
readin(g); end,;
writeln(‘enter new item"); for k:=rear downto front do
readin(r); writeIn('queuel',k,1=", queuelK]);
if g>rear then writeln(‘rear=",rear,'front=",front);
begin end,; .
rear:=rear+] : procedure deletequeue(var g,k,h,rear,front:integer)
queue[rear]:=r; _begln
if front=0 then if front=0 then
front:=1; writeln(‘error..queue is empty’)
end ’ else
else pegln
begin if front=rear then
for k:=front to rear do begin
begin rear:=0);
if k=g then front:=0;
begin queue[rear]:=0;
7 s/w:Hussien Ahmmed.T
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::‘S writeln('queue[rear]=',queue[rear]); end;

z} writeln(‘rear=",rear,'front=",front); end;

o~ writeln('error..queue is empty'); procedure checkfullqueue(chek:char;rear:integer);
« end begin

Py else if rear=6 then

i~ begin writeln(‘queue is full’)

« write('who location you want to delete:"); else

ﬁ:e readin(h); writeln(‘queue is not full’);

« m:=1; end;

z:a for i:=front to rear do procedure checkemptyqueue(chek:char;front:integer);
oy begin begin

« if i=h then if front=0 then

ﬁ:e queue[i]:=0 writeln('queue is empty')

i~ else else

z:: begin writeln(‘queue is not empty');

= item[m]:=queue]i]; end;

i:g queuel[i]:=0; procedure clearqueue(h,rear,front:integer);

e m:=m+1l; begin

Y end, if =0 then

« end; begin

“,:,. m:=1; for j:=front to rear do

}@ for i:=(front+1) to (rear+1) do queuel[j]:=0;

« begin writeln(‘queue=",queue(j]);

z}. gueue[i]:=item[m]; end

by m:=m+1; else

« end; begin

z}. front:=front+1; for j:=rear downto front do

~ writeln(‘the contain of queue is"); writeln(‘queuel',j,'=", queue[j]);

« for j:=rear downto front do writeln(‘rear=",rear,'front=",front);

z}. writeln(‘queuel',j,'1=', queue[j]); end;

~ writeln(‘rear=",rear,front=",front); end,;

{g end; begin

£

i 8 s/w:Hussien Ahmmed.T
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© &
z:: writglln(('v)vho many item you want to enter in thisege’); Diagram for work stage detete g:
e readIn(x); L
ﬁ:* writeln(‘'enter the element’); ﬁs*
« for rear:=1 to x do o o o «
5 begin gueue(stagel) 'Y | ¢ AR i
« write('queue[',rear,']=");

& readin(queue[rear]);

Py end;

« if rear<>0 then

z} front:=1 ) 5 p
« else item(stage &
T oo (stag NMEAREIEE
3] H 1 H n. Y
S writeln('who many item you want to add'); \ f{‘?
o~ readIn(x); i~
{:: for i:=1 to x do {::
o addqueue(i,x,g,r.rear front); gueue(stage3 ®
« writeln('who many item you want to detet’); YY | ¢ Y| o] so &«
ﬂ,:ﬁ readin(g); ﬂ,}
= for k:=1 to g do o
« deletequeue(g,k,h,rear,front); ) ) &«
ol write('do you want to check full queue(y,n): "); Delete item (5) from loction (3) g
}@ readIn(check); ﬁv@
" if check="y' then ) “
z}. checkfullqueue(check,rear); Fl Q(z) del ete gueue f}
by write('do you want to check empty queue(y,n): ); o~
« readin(check); &
z}. if check="y' then f}
~ checkemptyqueue(check,front); ~
« writeln('press(0) to clear queue other to show final result’); &«
Py readin(h); &«
1}‘3 (‘h
~ clearqueue(h,rear,front); o~
« end. &«
58 o
N R EEEEEE——— "
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Program circular queue

program Circular_queue;
const size=6;

var

cg:array([l..size] of integer;
item:integer;

front, rear,choice,iteml,i,1l,m :integer;
procedure addcq(var
front,rear:integer;item:integer);
begin

if rear=size then

rear:=1

else

rear:=rear+l;

if rear=front then
writeln('error..the co is full’)
else

cq[rear]:=item;

end;

procedure deletecq(var
front,rear:integer;item:integer);
begin

if rear=front then

writeln(‘error..the cq is empty") ggg

Elesein 2:begin

neg . writeln('hwomany element you like to delete?");

if front = size then readin(l):

l;rlzrétFl fori:=1toldo

B ) begin

front:=front+l; deletecq(front,rear,item1)

item:=cq[front]; end:

cql[front]:=0; en&
& '
o 10 s/w:Hussien Ahmmed.T
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end

end;

begin {main program}
for i:=1 to size do

cqll]:=0;

rear:=1;

front:=1;

repeat

writeln('program circular queue operation');
writeln(’ ;

writeln(*1-insertion operation’);
writeln('2-delete operation’);
writeln('3-Display the content op the CQ);
writeln('4-exit’);

writeln('select your choice");
readin(choice);

case choice of

1:begin

writeln("Hwomany element you like to enter?");
readin(m);

fori:=1to mdo

begin

writeln('enter element new element’);
readln (iteml) ;
addcq(front,rear,item1)




3:begin

writeln(‘the conten of CQ is’);
fori:=1 to size do
writeln(‘cqueuel',i,"1=",cqli]);
writeln;
writeln(‘front=",front,’
end;

4:end;

until choice=4

end.

rear=',rear);

Program double ended queue

program DEQ_operation;

var
i,rear,m,front,x,g,w,r.k,j,h,chiceme,chicemel,xite
m,item:integer;

queue:array[l..6] of integer;
check:char;

procedure addqueue( var
i,x,g,r,rear,front:integer);

begin

if rear=6 then

writeln(‘error...queue is full’)

else

begin

rear:=rear+l;

if rear>0 then

begin

writeln(‘enter new item’);

readin(item);

queuefrear]:=item

end;

if rear<0 then

begin

rear:=abs(rear);
writeln(‘enter new item’);
readin(item);
gueue[rear]:=item;

rear:=-rear;
end;

if rear=1 then
front:=1;
end;

end;

procedure deletequeue(var
g.k,h,rear,front:integer);
begin

if front=0 then
writeln(‘error..queue is empty’)
else

begin

if front=rear then

begin

rear:=abs(rear);

queue [rear] :=0;
rear:=0;

front:=0;
writeln('massage..queue become is empty");
end

else

begin

if front<0 then

begin

front:=-front;

queue [front] :=0;
front:=-front;
writeln('top=",front);
front:=front+1;
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z*w? end; writeln('queuel',},'=", queuelj]);

«S if front>0 then writeln('rear=",rear,'front=",front);

"% begin end;

:? queue [front] :=0; end;

iy front:=front+1; begin {main program}

«S end; writeln('who many item you want to enter in this
0 queue");

ﬁ:e end; readIn(X);

~ end; writeln('enter the element”;

«S end; for rear:=1 to x do

'%% procedure checkfullqueue(chek:char;rear:integer); begin

:}? begin write('queue[',rear,]=";

o~ if rear=6 then readin(queue[rear]);

> writeln(‘'queue is full’) end;

« else if rear<>0 then

ﬁ:a writeln(‘queue is not full’); front:=1

by end; else

Yy procedure front:=0;

«f checkemptyqueue(chek:char;front:integer); repeat

“,:e. begin writeln('program double ended queue operation');
P if front=0 then writeln(’ Y;
o~ writeln(‘queue is empty") writeln('1-Right to left);

&« else writeln('2-Left to right’);

&« writeln(‘queue is not empty’); writeln('3-exit’);

lf% end; readIn(chiceme);

by procedure clearqueue(h,rear,front,x:integer); case chiceme of

'y begin 1:

« if h=0 then begin

>4 begin repeat

ﬁ:e for j:=x downto 1 do if rear < 0 then

o~ queue[j]:=0; rear:=-reatr;

«S writeln(‘queue=",queuelj]); if front<0 then

® end front:=-front;

34 else writeln;

o begi iteln(’ double ended i

& gin writeln('program double ended queue operation
g’z for j:=rear downto front do right to left’);

N
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Writeln('*************-k****-k****-k****-k****-k******* erteln('frontz',front"

***-k****-k*'); rear:',rear);

writeln('1-insert op'); end;

writeln('2-delete’); 7:end;

writeln('3-check full’); until chicemel=7

writeln('4-check empty"); end; {ending right to left}

writeln('5-by zero"; 2: {left to right}

writeln('6-Display contain queue'); begin

writeln('7-return’); xitem:=front;

readln (chicemel) ; front:=-rear;

case chicemel of rear:=-xitem;

1: repeat

begin writeln;

writeln('who many item you want to add’); writeln('program double ended queue operation left
readin(x); to right');

fori:=1to x do
addqueue(i,x,g,r,rear,front);
end;

2:begin

writeln('who many item you want to detet');
readin(g);

fork:=1togdo
deletequeue(g,k,h,rear,front);
end;

3:begin
checkfullqueue(check,rear);
end;

4:begin
checkemptyqueue(check,front) ;
end;

5: begin
clearqueue(h,rear,front,x);
end;

6:begin

for i:= front to rear do
writeln(‘queuel',i,']=",queueli]);

13

erte I n ('*-k****-k****-k***********************-k****-k
**********‘) ,

writeln('1-insert op");
writeln('2-delete");
writeln('3-check full’);
writeln('4-check empty");
writeln('5-by zero");
writeln('6-display contain queue;
writeln('7-return’);

readln (chicemel) ;

case chicemel of

1

begin

writeln(‘who many item you want to add');
readin(x);

fori:=1to x do

begin
addqueue(i,x,g,r,rear,front);

if rear>0 then

rear:.=-rear,

end;
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end;
2:begin

writeln('who many item you want to detet’);

readin(g);
fork:=1togdo
begin
deletequeue(g,k,h,rear,front);
if front>0 then
front:=-front;
end;

end;

3:begin

if front<0 then
front:=-front;

if rear<0 then
rear.=-rear;

checkfullqueue(check,rear);
end;

4:begin

if front<0 then

front:=-front;

if rear<0 then

rear.=-reatr;
checkemptyqueue(check,front) ;
end;

5: begin

if front<0 then

front:=-front;

if rear<0 then

rear:=-rear,;
clearqueue(h,rear,front,x);
end;

6:begin

if front<0 then
front:=abs(front);

14

if rear<0 then
rear:=abs(rear);

fori:=1to 6 do
writeln('queuel',i,'|=",queueli]);
front:= 6- front+1;

rear:=6- rear+1;
if front>6 then

begin

front:=0;
rear:=0;

end;
writeln(‘front=",front,’
rear=',rear);

end;

7:end;

until chicemel=7

end; {ending left to right}
3:end;

until chiceme=3

end.

By:

1.Hussien aHlmmed TalaB
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o Y
N . . . . . e
) Program of linker list operation it do: else i
o (1= ) . p2:=nil; o
I =creat linker list'), oA link:=p2; IS
P ('2=display list’); P:=p2; i
Y ('3=add new item before element you chose it'); ggj ol
ﬁ% ('4==add new item after element you chose it'); ol
';::: ('5==detete item cetain value'); procedure DETETEVVALUE(start:ptr;item:element); g:
' . L. otr: o
< ('6==detete by give position'); \I::ae:giqnp " &
z:: ('7==adding at ending linker list') p:=start; ﬁ?
« program linker_list; «
:} type element=integer; while p*.data<> item do ﬁ:«
i© ptr="node; begin «
o) node=record q:=p; te
%’ data:element; p:=pA.link ﬁ’?
« link:ptr end; i«
w “
P end; g”.link:=pA.link; oy
« var p2,p,start,p3:ptr; dispose(p); o
z%. var i,n,a,k:integer; end; ﬁ:%
,;i: var item,item1:element; procedure ADDBEFOR(start:ptr;item:element); ei
:,}. procedure acreatlinkerlist(start:ptr); var p3:ptr; ;%
« begin begin i«
z%, write(‘hwo many iten yoy enter: '); new(p3); ﬁ:e
o read(n); p3~.data:=p”.data; oo
{g fori:=1tondo pA.data:=item; “::
ﬁ? begin p3A.link:=pA.link; ﬁ’:‘
&« readln(p”.data); pA.link:=p3; &«
o . . . '3
8 if i<>n then end; i«
« new(p2) i
o 0
& 5 T T &
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procedure ADDAFTER(start:ptr;item:element);

var p3:ptr;

begin

new(p3);
p3”~.data:=item;
p3A.link:=pA.link;

pA.link:=p3;

end;

procedure showlist(start:ptr);
begin

p:=start;

repeat
writeln('link.data=',p”.data);
p:=p”.link;

until p=nil

end;

procedure DETETEonec(p:ptr);
var q:ptr;

begin

g:=p”.link;

p”.data:=qg”.data;
pA.link:=g”.link;

dispose(q);
end;

begin {main program}

writeln;

writeln('chose your selection please............. ";
writeln('1=creat linker list');

writeln('2=display list');

writeln('3=add new item before element you chose it');
writeln('4==add new item after element you chose it');
writeln('5==detete item cetain value');
writeln('6==detete by give position');
writeln('7==adding at ending linker list');
writeln('9=exit');

readin(a);

case a of

1

acreatlinkerlist(start);

2:

showlist(start);

3:

begin

writeln('how the element you want to store new item befor it: ');
readIn(item1);

p:=start;

while p”.data <> item1 do

p:=pA.link;

writeln('"HOW MANY ITEM YOU LIKE TO ENTER');
readin(k);

fori:=1to kdo

begin

a:=5; writeln('enter the element');

start:=p; readIn(item);

repeat ADDBEFOR(start,item);
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« end; p2:=p;

:‘;% end; p:=p/.link;

« 4: end;

:% begin writeln('whomant item you like to detete');
Hy writeln('how the element you want to store new item after it: '); readIn(k);

:‘;:: readIn(item1); fori:=1to kdo

~ p:=start; DETETEonec(p);

< while p~.data <> item1 do end;

e‘ w—nAN | . .

o~ p:=p”.link; 7:

f&:‘z writeln('"HOW MANY ITEM YOU LIKE TO ENTER'); begin

e readIn(k); while pA.link <> nil do

« fori:=1tok do p:=pA.link;

:% begin writeln('HOW MANY ITEM YOU LIKE TO ENTER');
{S writeln('enter the element'); readln(k);

;f% readIn(item); fori:=1to k do

oy ADDAFTER(start,item); begin

z::: end; writeln('enter the element');

~ end; readln(item);

« 5: ADDAFTER(start,item);

oS begin end;

ﬁ:\: writeln('GIVE THE VALUE OF ELEMENT YOU WANT TO DETETE IT'); end;

E:e readIn(item); 9:end;

{S DETETEVVALUE(start,item); until a=9

z::e. end; end.

b 6:

ﬁ:‘z begin

z% writeln(‘how position the element');

« readin(k);

}:« fori:=1to k do

« begin

o

N
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